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FS| HE BREHS HIARkES
1 R 41 2%kstskskstoksdokokkk 552 93.0
2 -3 61 2kdokdoksdokatokadokk 31 3 98.0
3 2 E ik 420k kokedokokokokkok 23 1 87.0
4 T2 4 3Qksdkksksdokokadeokokk 356 86.0
5 [Epaie=a 430skksksksksdokskokokskok 7 19 90.0
6 K75 4 430kstdkdokstotokdok9 1 4 97.0
7 KR 42 24kkksdkdokokkk (057 97.0
8 JE 41 61 2kdokdoksdokatokadokk 233 97.0
9 ] 233k 44 Qkkdokdokdokdok k7 34 95.0
10 F @t 420kskkksdksdokokkok ] 16 86. 0
11 &4 440k kkdkedokokodok (0 ] 4 90.0
12 15 B 500skskskskskskskskskekskok 55X 94.0
13 L4 429ksdrkskstokkadokokk 652 85.0
14 WEk 44 ] skskskesrsksdokskoiokskok ()32 94.0
15 LR 41 wsieskskeksteskstosksksksk 535 87.0
16 LS s 44 53kskksdoksdokokkok D 1 2 95.0
17 k4 H 4 30kdkdokdokotokdokk 31 8 96. 0
18 B 4 30kksdetskodokokotokakok 4 72 91.0
19 Zs A 452%kkksAkAokkkk 396 98.0

20 Mt 360kkdksdokoktokkk4 ] 1 97.0
21 Z 4k 420kdkdoksdokodokdok k9 1 9 81.0
22 Tyt 45 2%kskksdksdokokkk 59T 86. 0
23 s 362kkkkeksitokokokok8 7 1 88.0
24 158 M 32 sksksksteskesreskskskokokok 230 92.0
25 H V5 430kkskksksdoksdokokkk 259 94.0
26 REY 4 30sskskekskskstokskskk 81 5 97.0
27 W ICHE 35 2skkstketestokadokokotokd | 4 93.0
28 ok 44 Tsksiskorstoksdokokkok 730 89.0
29 R K| 42 2xkskekskskkkskkk6 16 94.0
30 R 420kdkdoksdokodokedok k4 30 85.0
31 B 43 Tskstskokstoksdokokkok 21 7 95.0
32 R 75 350kkkskkstokatokokk k476 87.0
33 T 41 2kstrksketoroketotoksk (030 85.0
34 A ZE ik 4 30kdkdkdkotokatokk 2 30 93.0




35 T 37 2skstksktrokskotokskk9 14 97.0
36 W E 362k tkskskkoksdetokskk 5 1 3 85.0
37 ESn 4 30kstrkskotoroketeotoksk4 1 2 84. 0
38 Z5\p 52 41 0%sskskeksteskstoskskskk 833 83.0
39 JE B 42 QkststoksksdtokaeokokkQ 1 4 83.0
40 X EEE 44 Qksstkekedtokekotoksk() 1 X 94. 0
41 EGE 42 2%AkAdkdkodokdok k(0 1 6 99.0
42 FRF & 430ksksksksdokokdokaAok T 1 4 84.0
43  [E 360kkskksdskkedkekokk ()76 99.0
44 Ji 4 42 1 kstetokskototokeoiokk 838 93.0
45 2l 42 ksderoksstorokadetokk 715 92.0
46 15 e b 42 Qkststkskststokekotoksk 5 1 X 97.0
47 F 44 ] kdoksdokdokadokdokk 1 74 96. 0
48 = Ry 41 Istsekesiokeieokokk 5 39 91.0
49 Y IEE 4 30kdkdoksdokotokadokk 1 97 91.0
50 RIS 44 1 kstrokskototokeotokk 83 3 88.0
51 B R 452%Hkkdokekekokokk 312 85.0
52 B 51 2sstokskststokskotokoskek() 14 87.0
53 AR 4 30kkdokdokdokdok k4 3X 84.0
54 RARTS 440%kkskkdkokokokkok (1 5 85.0
55 o FE 362%kkstkstokdokatok k31 X 91.0
56 WA 44 ] kdokdokdokstokdok k4 58 92.0
57 MK 420k AkAdkdkodokAok k8 50 99.0
58 JAA L3 4 32%skkskdkoketotoksk 3 1 ) 93.0
59 %~F 43 3kdkdoksdokstokadokk 5 30 98.0
60 JE ¥ 43 2%kskkksdoksdokokkok 4 1 b 94.0
75 TRVE 32 0skstkssttoksfetokskk 27 3 78.0
76 %5 51 skekskskestskskoskekokokok (09 1 75.0
77 EhI 7R A4 Tskstskorstoksdokokkok 717 99.0
78 FE 450kskkskedoroketotoksk [ 38 70.0
79 {a] 75 TG 53 3kkkdkakokokdokkk6 33 75.0
84 W 51 Jskstokstestskoksterokskk(0 16 70.0
90 HAH A4 5kstkdokdckdok ok k6 36 76.0
91 J&E /DK 420kdkdokdokodokdokk 3 1 2 75.0
92 WK 350kskskskekekstokeketokok 4 1 5 79.0
93 1 Ny 4] Toksdoksdoksdokadokdok k8 3X 69. 0
97 Y LIES 44 1 sksttksketetokekotoksk 754 75.0
99 e 420Hkkekcdoketokok k9 3 | 73.0




